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QUESTION 1 
 
Refer to the exhibit. Router 1 was experiencing a DDoS attack that was traced to interface 
gigabitethernet0/1. Which statement about this configuration is true? 
A. Router 1 accepts all traffic that ingresses and egresses interface gigabitethernet0/1. 
B. Router 1 drops all traffic that ingresses interface gigabitethernet0/1 that has a FIB entry that 
exits a different interface. 
C. Router 1 accepts source addresses that have a match in the FIB that indicates it is reachable 
through a real interface. 
D. Router 1 accepts source addresses on interface gigabitethernet0/1 that are private addresses. 
Answer: C 
 
QUESTION 2 
 
Which configuration enables BGP FlowSpec client function and installation of policies on all local 
interfaces? 
A. flowspec address- family ipv4 local-install interface-all 
B. flowspec address- family ipv4 install interface-all local 
C. flowspec address- family ipv4 install interface-all 
D. flowspec address- family ipv4 local-install all-interface 
Answer: A 
 
QUESTION 3 
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Refer to the exhibit. A network engineer is configuring customer edge routers to finalize a L2VPN over 
MPLS deployment. Assume that the AToM L2VPN service that connects the two CEs is configured 
correctly on the service provider network. 
Which action causes the solution to fail? 
A. OSPF does not work with L2VPN services. 
B. The routing protocol network types are not compatible. 
C. A loopback with a /32 IP address has not been used. 
D. The xconnect statement has not been defined. 
Answer: B 
 
QUESTION 4 
 
Which task must be performed first to implement BFD in an IS-IS environment? 
A. Configure BFD in an interface configuration mode. 
B. Disable Cisco Express Forwarding on all interfaces running routing protocols other than IS-IS. 
C. Configure all IS-IS routers as Level 2 devices. 
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D. Configure BFD under the IS-IS process. 
Answer: D 
 
QUESTION 5 
 
A customer of an ISP requests support to setup a BGP routing policy. Which BGP attribute should be 
configured to choose specific BGP speakers as preferred points for the customer AS? 
A. lowest multi-exit discriminator 
B. highest local preference outbound 
C. lowest local preference inbound 
D. highest local preference inbound 
Answer: B 
 
QUESTION 6 
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Refer to the exhibit. Which two statements about the IS-IS topology are true? (Choose two.) 
A. R1 and R4 are Level 2 neighbors. 
B. All four routers are operating as Level 1-2 routers. 
C. All four routers are operating as Level 2 routers only. 
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D. All four routers are operating as Level 1 routers only. 
E. R1 and R2 are Level 2 neighbors. 
Answer: AB 
 
QUESTION 7 
 
Refer to the exhibits. R1 and R2 are directly connected and IS-IS routing has been enabled between R1 
and R2. R1 generates the above log message periodically. Based on this output, which statement is true? 
A. IS-IS neighbor authentication is failing for Level 2 PDUs only. 
B. IS-IS neighbor authentication is failing for Level 2 first and then for Level 1 PDUs. 
C. IS-IS neighbor authentication is failing for Level 1 and Level 2 PDUs. 
D. IS-IS neighbor authentication is failing for Level 1 PDUs only. 
Answer: D 
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